M McElroy Manufacturing, Inc. DRAWN: BEA CHECK: JWE APPRV'D: JRP ‘DATE: 5/4/1 O ﬁgT ,] EEV B EQ:RT 1269401
The leader by design.

M| i oo Tsa DynaMc AUTOMATIC POWER BOX ASSEMBLY 220—240QV, 50/60HZ

NOTE: THIS DRAWING AND THE INFORMATION CONTAINED THEREIN IS THE CONFIDENTIAL AND PROPRIETARY .

PROPERTY OF McElroy Manufacturing, Inc. THE DRAWING IS NOT TO BE REPRODUCED IN ANY MANNER, NOTES'

SUBMITTED OUTSIDE PARTIES FOR EXAMINATION, OR USED DIRECTLY OR INDIRECTLY FOR THE PURPOSES OTHER | 1. WIRE PER WIRING CHART.

THAN THOSE FOR WHICH IT WAS FURNISHED WITHOUT WRITTEN PERMISSION OF McElroy Manufacturing, Inc. 2. APPLY RT\/ SEALANT BETWEEN \NS|DE OF BOX AND ALARM.

e 3. ORIENT CONNECTORS WITH KEYS TOWARDS SIDE OF BOX AS SHOWN.
- SIDE A~ ~ < 4. CONNECT GROUND WIRE TO BOX WITH RING TERMINAL (ITEM 40) AND

00600

I

@)
(@)

- R
L\ [
(ul|deeecseoesicosecoseeiee

Osol

\\ 21 22 23

oo

SCREW SUPPLIED WITH BOX.
JUMPER PS1 OUTPUT TERMINALS 7 & 8 TOGETHER WITH ITEMS 8 & 47.
ROUTE WIRE FROM CONNECTOR J3 TERMINAL A THRU CURRENT SENSOR

(PART OF ITEM 2) BEFORE CONNECTING TO TERMINAL BLOCK.

7. BUNDLE WIRES WITH CABLE TIES (ITEM 45).
8.
9. ITEMS 45 THRU 53 ARE NOT SHOWN.

APPLY LABEL AS SHOWN, COVER WITH CLEAR OVERLAY.

10. CAP AND STOW J1'S UNUSED GRN/BLK AND GRN/WHT WIRES.
11. PLACE ITEM 19 SCREWS IN BOX MOUNTING SCREW RECESSES AS SHOWN

g

BEFORE INSTALLING LID.

> Tk 36(2)
- SIDE ”120”(30) - 128% E\ ?é% 29(4)
e 44 ] 4(2\)\ 39(2) 32(4)
[8>43 L= ey
NUIT ;
i e
31(4) =
32(4) — yo(a)
S 3204
(.

12 ] =l 8(11)

o |

] 32(4) (J2)

B AL
34(4) | @ '5 11(2)-

B\ ©)

9
Do 31(4) j 30(8) 10(3)
32(4) 31(4) 33(4) PS1
33(4) 33(4) 35(4)

April 17, 2024 11:21:09 AM CDT

-1-

¥ McELROY




DynaMc AUTOMATIC POWER BOX ASSEMBLY
220-240V, 50/60HZ

Sheet 1 of 3

WIRE TERMINAL FROM TO TERMINAL
Red-Wht 1267401 J1 Pigtail Assembly J1-A TB-20A none
Org-Blk " J1-C Pwr Supply J1-10  [MQF00351 - #16 Female Contact
Blk-Red " J1-D Drive - B4 none
Blk " J1-F TB-26A none
Red " J1-G TB-28A none
Wht-Red " J1-H TB-24A none
Org-Red " J1-J Pwr Supply J1-20 [MQF00351 #16 Female Contact
Blk-VWht - : J1K Relay K1-4 MLMO00120 14-16 X #6 Fork Terminal
#18 BLACK |MLMO00092 18-22 x #6 Fork Terminal Relay K2-4
Red-Blk 1267401 J1 Pigtail Assembly J1-M TB-19A none
Grn " J1-N TB-8A none
Org-Grn " J1-Q Drive - B5 none
Wht-Blk " J1-R TB-23A none
Wht " J1-S TB-22A none
Blu " J1-T Pwr Supply J1-18 |MQF00351 #16 Female Contact
Org " J1-U Pwr Supply J1-9 MQF00351 #16 Female Contact
Red-Grn " J1-V Alarm (+) MLMOO004 18-22 x #6 Ring Terminal
Grn-Blk-Wht " J1-wW TB-18A none
Red-BIk-Wht " J1-X TB-21A none
Wht-Blk-Red " J1-Y TB-25A none
Blk-Wht-Red " J1-Z TB-17A none
BLK 1267502 J2 Pigtail Assembly J2-| Relay K1-2 MLMOO0081 14-16 x #8 Fork Terminal
BRN " J2-A TB-24B none
GRN " J2-F TB-7B none
BLU " J2-H TB-9B none
BLK " J2-B Relay K2-2 MLMOO0081 14-16 x #8 Fork Terminal
BRN " J2-G TB-25B none
1269401 xlIs REV.B 11/1/11

April 17, 2024 11:21:09 AM CDT

-2-

¥ McELROY




DynaMc AUTOMATIC POWER BOX ASSEMBLY
220-240V, 50/60HZ

Sheet 2 of 3

BLK 1267602 J3 Pigtail Assembly J3-A —|TB-1A ?F‘)’:r‘fc')ﬁ;%f 4Vg'1r?_ thru current sensor
BLK " J3-B —|TB-3A none
GRN " J3-C —|TB-5A none
BRN 1267701 J4 Pigtail Assembly J4-A —|TB-26B none
BLU " J4-B —|TB-10B none
BRN " J4-C —|TB-17B none
BLU " J4-D —|TB-11B none
BRN " J4-E —|TB-21B none
BLU " J4-F —|TB-12B none
BRN " J4-G —|TB-18B none
BLU " J4-H —|TB-13B none
BRN " J4-J —|TB-19B none
BLU " J4-K —|TB-20B none
BRN " J4-L —|TB-29B none
BRN " J4-M —|TB-23B none
BLU " J4-N —|TB-14B none
BRN " J4-P —|TB-28B none
BRN " J4-R —|TB-22B none
BLU " J4-S —|TB-15B none
BRN 1267801 J5 Pigtail Assembly J5-A —|Drive - V none
BRN " J5-B —|Drive - U none
BRN " J5-C —[Drive - W none
GRN " J5-D —|TB-6B none
#14, BLK none Fuse F1 (Line) —|TB-2B none
#14, BLK none Fuse F1 (Load) —[Relay K1-1 MLMOO081 14-16 x #8 Fork Terminal
#14, BLK none Fuse F2 (Line) —|TB-4B none
#14, BLK none Fuse F2 (Load) —|Relay K2-1 MLMOO0081 14-16 x #8 Fork Terminal
#16, BLU MQF00351 16 Female Contact Pwr Supply J1-5 | —|TB-10A none
1269401 xIs REV. B 11111

April 17, 2024 11:21:09 AM CDT

3 ¥ McELROY



DynaMc AUTOMATIC POWER BOX ASSEMBLY

220-240V, 50/60HZ

Sheet 3 of 3

#16, BLU MQF00351 16 Female Contact Pwr Supply J1-6 TB-8B none
#16, BRN MQF00351 16 Female Contact Pwr Supply J1-7 Pwr Supply J1-8 MQFO00351 - #16 Female Contact
#16, BLU MQF00351 16 Female Contact Pwr Supply J1-16 TB-11A none
#16, BLU MQF00351 16 Female Contact Pwr Supply J1-17 TB-12A none
#16, BLU MQF00351 16 Female Contact Pwr Supply J1-19 TB-9A none
#18, GREEN |MQF00356 18-22 Female Contact Pwr Supply J2-E | —|TB-6A none
#18, BLACK |MQF00356 18-22 Female Contact Pwr Supply J2-L |—|TB-1B none
#18, WHITE |MQFO00356 18-22 Female Contact Pwr Supply J2-N | —|TB-3B none
#16, BLU MLMOO004 18-22 x #6 Ring Terminal | Alarm (-) —|TB-13A none
#18, BLACK rion® : Drive - 19 S{Relay K1-3 MLMO00120 14-16 X #6 Fork Terminal
#18, BLACK |MLMO00092 18-22 x #6 Fork Terminal | Relay K2-3
#14, BLK none Drive - L1 —|TB-2A none
#14, BLK none Drive - L3 —|TB-4A none
#14, GRN none Drive - EG —|TB-5B none
#16, BLU none Drive - T1 —|TB-15A none
#16, BRN none Drive - T5 —|TB-29A none
#14, GRN MLMO00094 14-16 x 1/4 Ring Terminal | Box Ground —|TB-7A none
1269401 xIs REV. B 11111

¥ McELROY

April 17, 2024 11:21:09 AM CDT -4 -



Part Number: 1269401 DynaMc Automatic 220-240V Power Box Assembly

McElroy Manufacturing Parts List

Click Here to View Iltem Online

Part Number 1269401 Component List

Item
ALl
DR1
DR1
F1
F2
K1
K1

K2
K2

PS1

© 0o N O OO b~ WDN PP

B A D DD W WWWWWWWWWNDNDNDNDNNDNDMDNMNNDNNDMNNDNERPREPRPRERPREPRPRPRE
A WNPFEP O OWNOO OO WNEOOOWNOOGDRAWDNEREOOOWNOOOGD™MWNDNLEREO

Component
MLNO00470
MDB00122
1269902
MLQO00081
MLQO00081
MKB00110
MKB00133

MKB00110
MKB00133

MQE00102
1265501
1267401
1267502
1267602
1267701
1267801
MQFO00352
MQFO00351
MQFO00355
MQFO00356
MLMO00004
MLRO0037
MLMO00061
MLMO0056
MLMO00204
MLMO00120
MLMO00092
MLMO00081
MAHO00232
MLMO00203
MLUO0037
MLUO0038
MLUO0041
MLMO00209
MLMO00206
MLMO00211
MANO00027
MBC00001
MANO00029
MANO0061
MANO00028
MBC00002
MLNO00206
MBF00002
MQI00077
MAHO00003
MLNO00194
MBFO00004
MBCO00004
MLMO00094
MQFO00177
MQFO00179
1271401
MKB00126

Description
6-28V Continuous Alarm
2HP 240V 1PH AC Vector Drive

Replaced by MDB00122 (Effective to 6/14/10)

15 Amp Fuse
15 Amp Fuse
240V,50A Solid State Relay

Same as & Replaced by MKB00110 (Effective

to 9/10/10)
240V,50A Solid State Relay

Same as & Replaced by MKB00110 (Effective

to 9/10/10)

+24, +5, +12, -12 DC Supply
Dynamc Hpu Electrical Box Mod
Dynamc Auto Pwr BX 24P Pig Asy
DM 240V 3/12,6/16 Fem Recp Pig
DM 240V 12/3 Male Recp Pig Asy
Dynamc 16/16 Recp Pigtail Assy
Dynamc 16/14 Recp Pigtail Assy
16AWG 24-POS 2-ROW Receptacle
16AWG Female Crimp Contact
5-POS .156" Connector Housing
18-22AWG Fem Crimp Contact
18-22 X #6 Ring Term, Non-insu
Sealed Panel Mount Fuse Holder
Steel Din Rail

End Clamp

End Cover

14-16 X #6 Fork Terminal

18-22 X #6 Fork Terminal

14-16 X #8 Fork Terminal
1/4-20NC X 1-1/4LG Bhpms PL
12-26 Spring Terminal

ZB5 Marker 1-10

ZB5 Marker 11-20

ZB5 Marker 21-30

ST2.5, 2 Pos Insertion Bridge
ST2.5, 3 Pos Insertion Bridge
ST2.5, 5 Pos Insertion Bridge
#4-40NCX5/8LG Fhscs SS
#4-40NC Mach Scr Nyl Lck Nut
#6-32NCX5/8LG Fhscs SS
#6-32NCX3/8 LG Bhscs SS
#6-32NCX5/8LG Bhscs SS
#6-32NC Mach Scr Nyl Lck Nut
#6 X 3/80D Seal Washer SS

#6 TY 'a' Wide FL Wshr Stl PL
#6-32X1/2 F/f 1/4AHEX Standoff
#10-24NCX5/8LG Phpms

#10 X 1/2 OD Seal Washer

#10 TY 'a’ Wide FL Wshr Stl PL
#10-24NC Mach Scr Nyl Lck Nut
14-16 X 1/4 Ring Terminal

Size 20 Recep Rear Mnt Gasket
Size 24 Recep Rear Mnt Gasket
DM Auto 110-120 Pwr BX Srl Lbl
Solid State Relay Cover

Quantity
1.0
1.0
1.0
1.0
1.0
1.0
1.0

1.0
1.0

1.0
1.0
1.0
1.0
1.0
1.0
1.0
1.0
11.0
1.0
3.0
2.0
2.0
0.7
2.0
1.0
2.0
2.0
4.0
4.0
30.0
1.0
1.0
1.0
3.0
3.0
1.0
8.0
8.0
12.0
8.0
12.0
24.0
12.0
4.0
4.0
2.0
2.0
2.0
2.0
1.0
3.0
2.0
1.0
2.0

Unit
EA
EA
EA
EA
EA
EA
EA

EA
EA

EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
FT
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA
EA

Price
60.86
1,444.00
0.00
35.52
35.52
59.00
0.00

59.00
0.00

651.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.00
0.96

147.00

18.49
571
3.79
1.15
3.14
0.00
0.00
4.58
5.86
5.89
5.44
3.44
4.98
5.29
0.29
0.34
0.14
0.66
0.61
0.75
0.00
0.10
3.81
0.29
0.00
0.10
0.31
0.00

14.22

14.20
0.00

14.35

April 17, 2024 11:21:09 AM CDT -5-

¥ McELROY



https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269401

McElroy Manufacturing Parts List

Part Number: 1269401 DynaMc Automatic 220-240V Power Box Assembly

Click Here to View Iltem Online

45
46
47
48
49
50
51
52
53

MLNO00418
MLLO0095
MLLO0096
MLLO0046
MLL00002
MLLO0053
MLLO0035
MLL00084
MLLO00089

5.5" X .14" Cable Tie

#16 UL1007/UL1569 Wire, Blue
#16 UL1007/UL1569 Wire, Brown
#16 Mtw/tew Wire, Green

#14 Mtw/tew Elec Wire, Black
#14 Mtw/tew Wire,

#18 Mtw/tew Wire, Black

#18 Mtw/tew Wire, White

#18 Mtw/tew Wire,green/yel Stp

25.0
10.0
9.0
2.0
3.0
2.0
2.0
2.0
2.0

EA
FT
FT
FT
FT
FT
FT
FT
FT

0.31
0.00
0.89
0.00
0.00
0.00
0.00
0.15
0.14

Please visit https://fusion.mcelroy.com/parts to purchase parts or for more information.

April 17, 2024 11:21:09 AM CDT -6-

¥ McELROY



https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269401
https://fusion.mcelroy.com/parts/exec?service=external/Home&sp=S1269401

